Year 3 Subtraction Challenge

Calculate the missing digits in these calculations.

1.

2 3 4, 5
6 2 o |3 6 8 4| |5 4
-1 |5 - 5 -1 |6 - 1| |8
9 9 2 9 7 2 2 7 2 0 2 7 3 6
7 8 9. 10
5 5 1 8 8 9 6| |4
8 -1 - 9 4 - 2 - |&
9 1 1 2 4 165 2 6 4 311

2 3
1 4 5 8 7 6
2 6 2 - 2 8 1 - 3 0 4
6 6 8 1 2 5 0 2 4 8 1 9
5. 6
2 4 1 7 0 9 0
8 5 -1 2 1 - & 8 5
1 0 8 5 3 4 8 0 2 7 9 5
8 9.
7 0 9 6 8 6 2 3
6 - 7 1 - 2




Year 3 Answers

Question Answer
1 9, 6,3
2 53,6
3 2,4,5
4 6,2, 3
5 8, 4,0
6 7,2 4
7 2,27
8 59, 6
9 4,2, 5
10 53,3

Year 4 Answers

Question Answer
1 9 3 4

2 7,3, 3

3 8,6,7

4 9,16

5 4,1, 2

6 6,86

7 2,77
8 0,8, 7
9 1,46




